

Maisonette in Zejtun



Zejtun, South



€330,000

Reference No: 240271011-341

 Total Rooms: **6**

 Floor Area (m²): **83**

 Bathrooms: **2**

 Bedrooms: **2**

Maisonette - For Sale - Zejtun

ZEJTUN - MAISONETTE - This property forms part of a new development and consists of two maisonettes, six apartments, and a penthouse. Located on the outskirts of this village in a quiet residential area, close to all amenities. Being sold freehold and highly finished excl bathrooms and doors. Call agent now for more information.

Features

- ✓ En Suite
- ✓ Court Yard
- ✓ Water Utility

Rooms

- ✓ Kitchen/Living/Dining : 7.85 x 4.28 m (33.6 m2)
- ✓ Double Bedroom : 4.29 x 3.56 m (15.27 m2)
- ✓ Double Bedroom : 3.71 x 3.17 m (11.76 m2)
- ✓ Office / Study : 3.05 x 2.43 m (7.41 m2)
- ✓ Bathroom : 2.03 x 3.27 m (6.64 m2)
- ✓ Shower Ensuite : 2.02 x 1.39 m (2.81 m2)
- ✓ Open Space : 3.5 x 1.5 m (5.25 m2)

Gallery





Dean Camilleri

RE/MAX South - Marsascala

M: 99838181

E: dean@remax.com.mt

T: 21555000

RE/MAX South - Marsascala

53, Triq is-Salini, Marsascala, Malta